2021@?&7(?MBA%*T#&M%EM&$ GREMNFFEFE)

HEIES F3I5 Spkis il IRE
103351000910081 H* ES=L 85.34 |#IREX
103351000910793 (RS <HF| 78.92 [SIFEEN
103351000922086 A <HFl 74.84 [H)FEX
103351000909378 [ < HE 74.37 [HIFEN
103351000917520 Pl <HFl 74.22 [HIREN
103351000907045 i ES=ki) 73.70 |[$IREY
103351000923566 =R E <HFl 73.29 |#IFRE
103351000908697 13 < HE 71.94 [#IFEN
103351000908594 2 =L 70.55 [HIFEX
103351000913365 =R ES=ka) 70.52 [#IFE
103351000922321 =8 <HFl 70.40 [#IREX
103351000913330 B < HE 69.46 |{IFEY
103351000907386 > <Hl 68.86 |HIFEN
103351000923856 Fip* = HH! 68.70 [HIFEX
103351000925441 AN ES=Ld 67.74 [HIFEN
103351000917560 X < B 67.23 [HIFE
103351000910011 XIJ* ES=ki 67.04 |HIFE
103351000920651 HES < HEl 65.37 [HIFEN
103351000910416 [E*EH E£HF! 79.82 [#ISREY GMSCM
103351000907300 B EEN=E] 79.41 [#IFEN GMSCM
103351000907368 Fr= E£HF 79.30 [#AFREX GMSCM
103351000923853 Ez*; EEN=E] 77.97 [HIFEN GMSCM
103351000908625 ] E£HF 77.87 |HIFREX GMSCM
103351000907780 = EEN=E] 77.61 [HIFEN GMSCM
103351000907308 B FELHF 77.33 [#IFREX GMSCM
103351000913384 =1 EEN=E] 77.07 [HIFEN GMSCM
103351000916731 & FELHF 76.44 |[#IFEY GMSCM
103351000909863 F*BH EEN=E] 76.26 [HIFEN GMSCM
103351000907163 =2F FELHF 75.99 [#IFREN GMSCM
103351000917424 = EEN=E] 75.97 [#IFEN GMSCM
103351000909391 i FELHF 75.34 |$UIREL GMSCM
103351000914372 25 EEN=E] 75.01 [#IZFEN GMSCM
103351000915493 e EZEY=E 74.53 [#IFREX GMSCM
103351000910388 B EEN=E] 74.45 [HIFEN GMSCM
103351000909061 e FELHF 74.09 [#IFREN GMSCM
103351000913372 2 EEN=E] 73.81 [H#IFEN GMSCM
103351000914230 SRR FELHF 73.52 |[#IFEY GMSCM
103351000909259 F* EEN=E] 72.97 [HIFEN GMSCM
103351000907785 FE FELHF 72.36 [HAFREN GMSCM
103351000908654 Zx EEN=E] 71.69 [H#IFEN GMSCM
103351000924401 fag* FE£HF 70.36 [HAREN GMSCM
103351000909439 F* EEN=E] 69.87 [HIFEX GMSCM
103351000917500 Ll FELHF 69.18 [HIFREN GMSCM
103351000916920 F*IR EEN=E] 68.85 [HIFEN GMSCM
103351000909954 TR FELHF 68.83 [HAFREN GMSCM
103351000918515 By EEN=E] 68.66 [HIFEN GMSCM
103351000916294 KR, FELHF 67.97 [HIFEN GMSCM
103351000918853 B 5 EEN=E] 67.62 [HIFEN GMSCM
103351000915476 4l FE£HF 67.28 [HLFREN GMSCM
103351000921422 )z EEN=E] 66.15 [HIFREN GMSCM
103351000909744 23 FELHF 66.01 [#IFEN GMSCM
103351000907857 F EEN=E] 85.44 [#]FREX
103351000924776 TR FE£HF 85.32 [#AFREN
103351000907528 B+ K EEN=E] 84.96 [HIFREX
103351000908422 TR E=HF 83.77 [HIFEEW
103351000910324 = El=3 =k 83.69 [HIFEN




103351000907844 7E* E£HF 83.54 [#IFRE
103351000908100 =T EEN=E] 83.54 [JIFEEX
103351000908104 =*PH FELHF 83.29 [#IFRE
103351000907817 25 E[Z=3=Ei 82.97 |#IREX
103351000924647 F* E£HF 82.56 |HUIREX
103351000907643 X1* E[Z=3=Ei 81.97 |#IREX
103351000907743 FE FELHF 81.83 |HUIREX
103351000907125 fhrxes EEENE=E] 81.35 [HIFEE
103351000907958 75 FELHF 81.17 [#IFRE
103351000907540 F= E[Z=3=Ei 80.74 |#IFRW
103351000907046 X1*BH FELHF 80.71 [#IFRE
103351000921418 FER* E£HH! 80.70 |#IFRE
103351000908145 = FELHF 80.47 [#IFRE
103351000916997 =K E£HH! 80.39 |#IFRE
103351000907312 Z* FELHF 80.14 [#IFRE
103351000908152 AB* E[Z=3=Ei 80.13 [H#IFREY
103351000907021 X FELHF 80.13 [#IFRE
103351000907697 B E£HF! 80.11 [#UFEN
103351000909241 Fip* E£HF 80.00 [#IFEY
103351000908437 ke E£HF 79.79 |HIFEX
103351000909473 Tt FELHF 79.75 [#IFRE
103351000924813 Ny IE2HE 79.67 |[#IFEY
103351000921573 B FELHF 79.59 [#IFRE
103351000915416 A 2Bl 79.43 [#IFREX
103351000910117 E= ELHF 79.39 [#IFRE
103351000916973 i E£HF 79.34 |HIFEN
103351000924707 A FELHF 79.31 [#IFRE
103351000909453 BUSFE FELHF 78.98 |HIFEN
103351000920068 B FELHF 78.87 [#IFRE
103351000913356 Fr— FELHF 78.86 |#IFEY
103351000908081 * El==Ei 78.84 [HAREX
103351000908055 FLEF FELHF 78.80 [#AFREN
103351000921423 Fi\v gk El==Ei 78.73 [#AREX
103351000907850 [ FE£HF 78.67 |HIFREX
103351000915478 =] E£HF 78.42 [AREX
103351000908093 K= FELHF 78.23 |HIFEN
103351000920072 RN E2HE| 78.10 [FIEEY
103351000910238 [ FELHF 78.02 [#IZE
103351000908304 [7=3 E = 77.99 [FIEEN
103351000915398 =8 FELHF 77.97 |HIFREX
103351000908498 B E2HE| 77.92 [FIEEN
103351000912941 T FELHF 77.77 [HIRE
103351000907873 = E = 77.77 [BIEEY
103351000924410 e FELHF 77.74 |HIFREX
103351000912346 MHE El=S=Ei 77.71 |HIREX
103351000924812 B E[=3=E 77.70 |HIFE
103351000920712 Zp* EEN=E] 77.66 [FIEEX
103351000908713 Rer* FELHF 77.59 |[#IFEY
103351000920401 f* El=S=Ei 77.31 |HIREX
103351000908188 HE*ER FELHF 77.30 |[#IZFEY
103351000925793 fa* EEN=E] 77.28 [SIEEX
103351000909240 5+ FELHF 77.21 [#IRE
103351000908314 B4 ELHF 77.14 [$UFEEN
103351000914225 XU FELHF 77.10 [#IFRE
103351000907034 P EEN=E] 77.09 [FIFEEX
103351000907685 L FELHF 76.74 [#IFEN
103351000907836 15 B, El=S=Ei 76.71 |HIREX
103351000913327 7* FELHF 76.62 [#IFRE
103351000907744 FEAIT El=3 =k 76.53 |[HISREN




103351000907635 BN E=HF 76.47 |[HIFE
103351000913361 P El=3=Ei 76.47 [HIFREX
103351000924766 [ FELHF 76.44 [HIFRE
103351000924409 8* EEEN=E] 76.42 [HIFE
103351000908612 =h FELHF 76.39 [#IFRE
103351000907459 B= E[Z=3=Ei 76.34 |HIREX
103351000915455 ENRES E£HF 76.31 [#IFRE
103351000907412 5K*BH ELHF! 76.21 [HIFE
103351000909411 Hex FELHF 76.17 [#IFRE
103351000907636 = E[Z=3=Ei 76.11 |#IFRE
103351000924734 T E£HF 76.11 |FIREX
103351000910358 eIk E£HH! 75.99 [H#IFREY
103351000908383 FB1E% FELHF 75.98 [#IFRE
103351000907587 =8 E£HH! 75.90 |#IFRE
103351000924779 =7 FELHF 75.89 [#IFRE
103351000907936 i E[Z=3=Ei 75.88 [HIFREN
103351000909981 PR FELHF 75.84 [#IFRE
103351000914244 gR*IE FELHF 75.75 |HIFEN
103351000908495 i E£HF 75.74 [HIFRE
103351000907715 F* E£HF 75.72 [#IFREX
103351000910085 [ FELHF 75.69 [#IFRE
103351000909604 BB E£HF! 75.64 |HIFREX
103351000907578 Fijv FELHF 75.62 [#IFRE
103351000907307 FF FE£HF! 75.61 |HIFREX
103351000908479 7 ELHF 75.61 [#IFRE
103351000910294 =15 FELHF 75.60 |HAIFEN
103351000908409 K45 FELHF 75.59 [#IFRE
103351000908138 7* FE£HF 75.56 |HIFEN
103351000907369 F-{F FELHF 75.47 [#IFRE
103351000910030 gK* E£HF 75.42 |[HIRE
103351000924773 ERE E2HE| 75.35 [FIEN
103351000906999 e E£HF 75.24 [#IFRE
103351000908029 XIJ* E£HF 75.19 [#AREX
103351000908126 T FELHF 75.16 [H#IFEN
103351000908707 [ El==Ei 75.16 [HAREX
103351000908200 KK FELHF 75.10 [#IZFEY
103351000907623 ) E2HE| 75.09 [FIEEN
103351000908000 F2 FELHF 75.07 |HIFREX
103351000907671 7 &R ELHE 75.03 [FIEEN
103351000922421 =R ELBH 75.03 [SIFEEN
103351000909628 N E2HE| 75.00 [FIEN
103351000915465 5K+ FELHF 74.99 [#IFEY
103351000917996 JE* El==Ei 74.99 [HAREX
103351000907684 XIJ* E=HF 74.92 |[HIFREX
103351000908120 58 El=S=Ei 74.88 |HIREX
103351000910012 F*if FELHF 74.83 [#IFEY
103351000908344 A E Y= 74.82 [SIFEEX
103351000924796 3 FELHF 74.68 [HIFRE
103351000910338 S E Y= 74.55 [SIFEEX
103351000924771 X1J* FELHF 74.48 |HIFE
103351000915505 Frhe ELHF 74.46 [H)FEX
103351000909253 2R FE£HF 74.33 [#IFRE
103351000908142 E ELHF 74.27 [H)FREX
103351000924797 =] FELHF 74.23 [#IFE
103351000913338 7% El=S=Ei 74.21 |HIFREX
103351000924782 frhae FELHF 74.08 [#IFRE
103351000908541 R* El=S=Ei 74.05 |HIREX
103351000924793 X1 E£HF 74.04 [#IFRE
103351000910637 ] El=3 =k 73.99 [#IFE




103351000916700 X1 E£HF 73.96 [#IFREN
103351000908433 TR El=3=Ei 73.84 |[#IFEN
103351000910000 XU FELHF 73.81 |[#IZREY
103351000916987 =8 E[Z=3=Ei 73.71 [HIFEN
103351000907532 B+ E=BH 73.70 [HIFE
103351000924740 &* E[Z=3=Ei 73.57 [HIFEN
103351000907520 R\ E=BH 73.57 |[HIFEE
103351000907986 it E[Z=3=Ei 73.55 [#IFEN
103351000908855 45 FELHF 73.53 [#IREY
103351000924720 = E[Z=3=Ei 73.53 |[#IFEN
103351000920066 W= FELHF 73.50 [$IREY
103351000924692 Rz E[Z=3=Ei 73.49 [HIFEN
103351000909557 7 EEEN=E] 73.49 [HIFE
103351000924800 B&R* E£HH! 73.45 |#IFRE
103351000909751 = FELHF 73.43 |[IFEY
103351000908207 B E E[Z=3=Ei 73.41 [HIFEN
103351000908557 Zx EEN=E] 73.40 [HIFE
103351000907626 g FELHF 73.38 [#IZFEY
103351000907837 El EEN=E] 73.33 [HIZEE
103351000909588 e E£HF 73.31 |HIFREX
103351000909696 T FELHF 73.31 [HIFEE
103351000909335 -2y E£HF 73.30 |HAFEN
103351000908621 sT* EEN=E] 73.29 [HIFE
103351000907530 FR E£HF 73.26 [#AFREN
103351000915474 [F=] FELHF 73.24 [HIFE
103351000909082 73 FELHF 73.22 [#IZEN
103351000908405 F*T ELHF 73.21 [#IFRE
103351000909167 [EES FELHF 73.19 [H#IZEN
103351000907151 O FELHF 73.17 |[HIFEE
103351000924676 SR FELHF 73.16 [#IZFEX
103351000918824 ik EEN=E] 73.15 [HIFRE
103351000908125 XIJ* FELHF 73.13 [#ITE
103351000908067 SR*1d E Y=L 73.12 [#IFE
103351000908674 o> FELHF 73.09 [#IFEY
103351000909600 S EEN=E] 72.97 [HIFRE
103351000923560 & FELHF 72.86 |#IFEX
103351000907653 B EEN=E] 72.82 |[HIFRE
103351000908168 F* FELHF 72.82 [#IFEN
103351000908981 G EEN=E] 72.77 [HIZRE
103351000907156 B FELHF 72.73 [#IZE
103351000915537 5+ EEN=E] 72.69 [HIFRE
103351000907990 82 FELHF 72.66 |HIFEY
103351000924439 B EEN=E] 72.62 |[HIFRE
103351000907745 BEE] FELHF 72.60 [#IFEY
103351000920115 BT EEN=E 72.49 [#IFE
103351000907094 Frig FELHF 72.48 [#IFE
103351000907897 = EEN=E 72.41 [HIZREX
103351000924763 EEEEN FELHF 72.40 [H#IFEN
103351000907011 R EEN=E 72.40 [#IREX
103351000915607 e FELHF 72.39 [#IFEY
103351000924404 SE EEN=E 72.38 [HIZREX
103351000909306 ESEE FELHF 72.29 [#IZEN
103351000924745 7= EEN=E 72.22 [#IZREX
103351000924802 B FELHF 72.16 [#IFEN
103351000924388 = EEN=E 72.15 [HIREX
103351000912139 ESEV FELHF 72.09 [#IFEY
103351000912006 =R EEN=E 71.98 [#IZREX
103351000907781 =] FELHF 71.96 [#IFEN
103351000924415 ESyE] El=3 =k 71.91 |[#IREN




103351000907913 g E=BF| 71.84 [#IFREX
103351000916390 B El=3=Ei 71.83 |[#IRE
103351000910280 7 FELHF 71.77 |PIREY
103351000910196 BN E[Z=3=Ei 71.68 |HIFEN
103351000908515 e EEEN=E] 71.66 |HIFE
103351000914369 K+ E[Z=3=Ei 71.58 |#IFEN
103351000917413 Bl FELHF 71.57 |$IFEY
103351000924664 XI5 ELHF! 71.57 [IUFEN
103351000922083 PG EEEN=E] 71.48 [HIFE
103351000919440 F=R0N E[Z=3=Ei 71.42 [HIREN
103351000913371 B+ E=BH 71.39 [HIFE
103351000915530 X1 E£HH! 71.34 |HIFREX
103351000915445 =0 FELHF 71.24 |$IREY
103351000907190 FE E£HH! 71.23 |#IFRE
103351000909686 =+ EEEN=E] 71.22 [HIFE
103351000914229 BT E[Z=3=Ei 71.21 |HIREX
103351000915535 715 EEN=E] 71.20 [HIFE
103351000924741 Bk FELHF 71.19 [H#IZFEN
103351000908572 EE FELHF 71.17 [HIZEE
103351000924765 FIV<OEp FELHF 71.16 |HIZRE
103351000917518 ¥BI% EEN=E] 71.16 [HIFE
103351000924389 G5 FELHF 71.13 [#IFEN
103351000924792 SR FELHF 71.07 [HIFE
103351000915506 F* FELHF 71.04 [H#IZFEN
103351000918771 ErE FELHF 70.99 [HIFE
103351000907861 J* FELHF 70.99 [H#IFREX
103351000923565 S E=BH 70.93 [HIFE
103351000915610 XIJ* FELHF 70.92 [#IZFEN
103351000918124 {a— EEN=E] 70.92 [#IFE
103351000908056 185N FELHF 70.85 [#IFEY
103351000924698 BE*IR EEN=E] 70.79 [HIFRE
103351000924788 ] FELHF 70.74 [#IFEX
103351000909951 El E=BE 70.72 [#IZRE
103351000924655 = FELHF 70.68 [#IZFEX
103351000908025 KN, EEN=E] 70.66 |HIFREN
103351000913932 ] FELHF 70.63 [#IZFEX
103351000910575 XI*E8 EEN=E] 70.62 [HIFRE
103351000921895 SR E£HF 70.61 |HIFEN
103351000924718 A EEN=E] 70.59 [#IFRE
103351000919025 2rE FELHF 70.58 [#IFEX
103351000908181 X EEN=E] 70.53 [HIFRE
103351000907783 = FELHF 70.53 [#IZFEX
103351000908163 v E£HF 70.50 [#IFRE
103351000920213 L+ FELHF 70.47 [#IFE
103351000909321 F* EEN=E] 70.43 [#IZREX
103351000924669 o FELHF 70.18 [#IZFE
103351000924778 1% ELHF 70.13 [#IZREX
103351000924795 e FELHF 70.13 [#IZTEN
103351000913369 T EEN=E] 70.12 [#IZREX
103351000909939 > ELBE 70.10 [#IZEN
103351000924739 A EEN=E] 70.02 [#IZREX
103351000909611 R FELHF 69.94 [#IFEX
103351000909236 B EEN=E] 69.79 [#IFREX
103351000924780 it FELHF 69.72 [#IFE
103351000924785 g EEN=E] 69.71 [HIREX
103351000913299 it FELHF 69.66 [HIFEY
103351000907655 [F=asY EEN=E] 69.65 [HIFREX
103351000908643 ] FELHF 69.65 [fIFREY
103351000920070 2R El=3 =k 69.61 [HISEN




103351000907707 g 3 69.60 [fIFREN
103351000924399 = 3 69.53 [HIREX
103351000907529 x> 3 69.39 [HIFE
103351000910165 XU*FR 3 69.25 |#IFRE
103351000909918 25431 3 69.16 [HIFE
103351000907906 3*R1 3 69.03 |#IFRE
103351000908213 B* 3 68.97 [HIFE
103351000924695 F 5 3 68.91 [H#IFREX
103351000914228 27 3 68.87 [HIFE
103351000917448 R 3 68.86 |HIFEN
103351000924413 IR 3 68.72 [#IFRE
103351000924801 e 3 68.71 [HIREX
103351000907729 ] 3 68.63 [HIFE
103351000909752 o 3 68.55 |#IFREN
103351000907013 2 3 68.52 [HIFE
103351000908073 S 3 68.51 |HIFREX
103351000907438 2x 3 68.44 [HIFE
103351000908609 % 3 68.34 [HIFE
103351000924737 X[ 3 68.30 [HIFE
103351000924713 FR 3 68.27 |HIFEN
103351000907071 ®* 3 68.21 [HIFE
103351000909478 Ahxg 3 68.19 [H#IFREN
103351000924438 2245 3 68.00 [#IFEX
103351000908170 XIJ* 3 67.88 [H#IFEN
103351000924759 = 3 67.85 |HIFE
103351000907144 B R 3 67.82 IR
103351000907527 e 3 67.62 [HIFE
103351000924729 5 EE 3 67.44 |HIRE
103351000910105 g 3 67.41 |PIFEY
103351000924405 el 3 67.38 |HIFE
103351000909749 [ 3 67.34 |[HIFRE
103351000924805 5+ 3 67.10 |HIRE
103351000924499 ok 3 67.08 [HIFRE
103351000909414 > 3 66.81 [HIFE
103351000924744 X2 3 66.69 [HIFE
103351000909812 W4T 3 66.62 |HIRE
103351000925788 oK ER 3 66.52 |#IFEY
103351000924743 [ 3 66.48 [H#IFEN
103351000907731 M1, 3 65.35 |HIFRE
103351000924722 55 3 64.92 |[HIZRE
103351000924762 Zx 3 64.87 |HIFRE




